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1.
What is the slope of the PbO - PbS line on a stability diagram of         (Log PSO2 vs  Log PO2 ) ?

2. What cell potential would be required to produce Na(l) and Cl2(g) from NaCl(l) at an activity of 0.2 relative to pure liquid. The pressure of chlorine is 1.6 atm. The temperature is 873K.

NaCl(l) = Na(l) + 1/2 Cl2(g)
∆G°= 82,830 cal/gmole

F= 23,066 cal/gmole-equiv

R= 1.987 cal/gmole-K

3.
What is the slope of a line of constant SO3 pressure on the stability diagram?

4. What three equations must be solved simultaneously in order to fix the line between the ZnO and ZnO•2ZnSO4 phases on the roaster diagram?

5.
A stability diagram for the Ni-S-O system is to be drawn.  The vertical coordinate is Log PS2 and the horizontal coordinate is Log PO2.  The condensed compounds present are Ni, NiS, NiSO4, Ni3S2, and NiO.  The gases present include S2, O2, SO2, and SO3.

a)  Sketch the diagram showing the relative position of each compound.

b)
Assuming the NiSO4 and the NiS phases are in equilibrium, what is the slope of the line between them?

c)
What would be the slope of a line of constant SO2?


